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1. (a)

for the questions

UNIT—I

G3CE Taredd [IEaE 79 9ot rsfis GBR
@S g R ? RiGaoR afem oy 1+2=3
How will you prepare acetoacetic ester

by Claisen condensation reaction? Give
the mechanism of the reaction.

(b) o R oA R T i 1x2=2

A
'6/558

Answer any two of the following :

() «fbs s @B BT wERicye e
e weResEd 2
What are ketonic hydrolysis and

acidic hydrolysis of acetoacetic
ester?
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1 2.
i O e wBRe 1 T e wfte @EE
A W3AD 38O <12
Y N ""\'\"_--}‘\.‘7 ]
ﬁow will you prepare crotonic acid
fr?‘_ii\imalonic ester?

Complete the following reaction :

i
CH —C—
3—C—CH,C00C,, C2HsONa _ , CHIBr, 7

2.

(a) TS e
g th R e @b sisppger oimfe Bl 2
e .
following ;SynmeSIS of any one of the

(i) 15‘5@3?1 R R «fte
_ Citric acid from glycerol
(i) “W%m R IR @fo
o %%Tartanc acid from ethylene
% @R (R oy €BR)—
f.hat happens, When (any on
i) iﬁﬁs@ o Tagy BRIEE
actic acig is |
805C taers
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* KMno
a(‘.ldlﬁed no
acid gt 60 °0
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(1) heateq;

TSR gfiey  we@

4 is added to oxaliC

1

P16/55g
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(3)

(c) wer fira ffimrcar 3oyl w1 (R core ) -
1x2=2
Complete  the reactions
(any two) :

(i CHp;=CH—CHO +HCl —> ?

following

5 ccl
(i) CH,=CH—COOH + Br e 5 D

ammoniacal AgN

0
(itj) CH,=CH—CHO 85 ?

UNIT—III
3 (@) o @R @S oFS FRAI1?

How will you prepare the following?
(i) ZEfE RO 7l TR

Naphthalene by
synthesis

(i) =iz A PR
Pyridine from pyrrole

1vax2=3

Haworth’s

(b) et gy 1 (R AT @B 2

Explain why (any one) : - '

() PR 9 EmRele oF 1
Pyridine is a stronger base than
aniline

(i) e weg Ree  afegem  Riew
are3 C-29 HAvS A
Thiophene undergoes electrophilic

substitution primarily at C-2

[ Turn over)

i
.



(c)

94, (a)

- Wha are the

P16/55g

(4)

9%, afey R @ wor)—
What happens, when (any two)—

i qmq

0 iy UE gV fin ERe 9%
. Wﬁﬁ m&@W@;
Mmomastur- e of acetylene and
hot tube; IS passed through a red

G
Sn r$ Kisl]
ﬁgﬂﬁswa; s HCIS

nitrObenzén .
e .
and conc, HCII;S reduced with SP

(i °
) 165 ¢ SHOTS g e M

H .
QSO4§ ﬁ'&ﬂn W 7 1,‘242

Naphthalene ;
ne is .
H2304 at 165 o(f:il’;eated with conc.

UNIT~IV

SRy RORR
How wifl yors T ARBY it e SR ?
Wnthesigp © PaTe glycine by Strecker

= 9R/1/ 0
DNAWR,» RNA? r

st
Ctions of DNA and RNA?

2

IR Ry 2
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(b) oo1 R e foRoR Teg fumn - 1x3=3

‘S. (a)

plﬁlga.\

Answer any three of the following :

() om auE dffc wF e 9w
GfSTR TR WIS Sraet g |

Give one example each of a neutral
amino acid and an acidic amino
acid.

(i) =RfeTE 200 °C a1 T ¥ 96 2
What happens when glycine is
heated to 200 °C?

(i) <wiEw’ «fbes GRHR wEA 2
What is the zwitter ion in amino
acids?

(iv) <=IfeE LiAlH,3 7@ ReiRe +Re 7
9B 2

What happens when alanine is
reduced with LiAlH,?

UNIT—V

o R @I PR TST froan -
Answer any two of the following :
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T ? 1+172
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(b)

(6)

What happens when glucose is
reduced with Hi jp presence of
red phosphorous? What important
information Tegarding the structure

reaction?

k‘ﬁ fag e IR fi p—

at is mu

tarotation? Can the
Open_c .

(i)

How will you co

D‘arabinose?

D-éﬁ.’“i@uﬁw mfhﬁw‘ |

nvert D-glucose to

open-chain structure of

°n condensation

1+1=2

2
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®

(b) woTs TR COoTEE TR (7 IS T

o

Yyx4=2

. -
State whether the following are adilt.lo
polymers or condensation polymers :

() efRfREm
Polyethylene

(i) CoFe™
Teflon

(iii) T 6,6
Nylon 6,6

(iv) PVC

(¢ o= 2

What is resol?
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